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/365-A 

1. Select the correct answer choosing from 

among the alternatives given for each of the 

following questions 

(i) Blache 

( Marks: 20 ) 

(a) Human Geography is the study of "the 
between changing relationship 

unresting man and the unstable earth". 
Who said this? 

(i) Ratzel 

(üi) Ritter 

( 2 ) 

GROUPA 

694 

(iv) Semple 

1x10=10 

the 

(Continued ) 

(3 ) 

(b) Which of the following areas in the world 
has very low population density? 

/365-A 

(i) Greenland 

fi) Indonesian Islands 

(üi) The Nile Valley 

(iv) Central America 

(c) Which of the following countries is 
famous for modernised lumbering? 

69 606a gâs? 

() Denmark / 60RI 

(ü) Japan / @IaR 

(üi) Canada / GISIOI 

(iv) New Zealand / Ga 

( Turm Over ) 



(d) In which country of the world is the 
network of railwavs the most extensive? 

(i) Canada 

/365-A 

(i) China 

19 

(i) Russia 

(iv) United States of America 

(e) Which of the following cities is different 
from the other three in terms of its 
functional specialisation? 

(i) Addis Ababa | a a 

(i) Canberra | @IR6RQ 
(üi) New York / a 

(iu) Vienna / @91 

( Continued ) 

(g) 
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Which State has the highest sex ratio in 
India? 

(i) Goa 

(ii) Kerala 

60 

( 5 ) 

(ii) Manipur 

(iv) Tamil Nadu 

Currently, the use of which type of land 
has increased in India? 

() Barren land 

(i) Horticultural land 

(üi) Land under non-agricultural use 

(iv) Pasture land 

(Turn Over ) 
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(h) In which two Indian States is ground 
excessively exploited 

agricultural purposes? 
water 

6 ) 

(i) Bihar and West Bengal 

(i) Gujarat and Rajasthan 

(ui) Haryana and Punjab 

f) Karnataka and Tamil Nadu 

(i) Ahmedabad 

for 

Which of the following cities is not 
located along the Golden Quadrilateral' 
highways? 

( Continued ) /365-A 

i) Bhu baneswar 

(ii) Bengaluru 

(iu) Nagpur 

(i) In the rural areas of which of the 
following districts of Odisha there are 
few compact settlements? 

(i) Bhadrak 

(ii) Bargarh 

7) 

(üi) Kandhamal 

(iv) Deogarh 
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2. (a) Write the correct number with name for 
each of the following bits in the answer 
script by identifving then from among 
the star marked as well as numbered 
places/areas in the map of the world 
given 1n this question paper (See 

Annexure in Page No. 13) : 

/365-A 

( 8 ) 

(969Ra 60S, Q9I g° 13) : 

() The country with the highest 

Human Development Index 

(i) The Pampas wheat growing belt 

(üi) The Suez Canal 

(iv) Tokyo, the megacity 

lx5-5 

(v) The Singapore port 

( Continued ) 

(b) 

(9 ) 

Draw an outline map of India and depict 
therein each of the foliowing : 2+(½x5)=5 
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(i) The Ahom cultural belt 

(i) The prominent lake from which salt 
is harvested 

(üi) The Vijayanagar steel plant 

(iu) The Konkan Railways 

(v) The Little Sundarbans 

GROUPB 

( MarkS : 29 ) 

3. Distinguish between (any tern) : 

(a) Village and Hamlet 

2x 10=20 
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(b) Nomadic herding and Ranching 

10 ) 

(c) Small-scale industry and Large-scale 
industry 

(d) Honolulu port and Dusseldorf port 

(e) The Haneda airport and the Heathrow 
airport 

(g) Circular pattern settlements and star 
ike pattern settlements 

(i) 

Adventure tourism and Ecotourism 

(h) Rainwater harvesting and Watershed 
management 
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Manganese and Mica 

Liberalisation and Privatisation 

(k) Border roads and Express highways 

robusta) Sal (Shorea and Sundari 

(Continued ) 

4. Write short notes on (any three): 
a»âg g1 69 (6asla� @61): 

(a) External migration 
6@61196 1 

11 ) 

(b) Agro-based industry 

(c) Balance of trade 

(d) Factors of tea plantation 

(e) Coal fields in Odisha 

GROUP C 

/365-A 

( Marks: 21 ) 

Answer any three questions 

3×3=9 

7x3=21 

5. Discuss the salient features of modern 
agriculture in the world. 

(Turn Over ) 
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( 12 ) 

6. Give a geographical account of the oil and 

natural gas transportation by pipeline in the 
world. 

ala QIQ 68 

7. Elaborate upon the problems of rural 
settlemnents in the developing countries of 

8. Give a geographical account of bauxite mining 
in India. 

H23 (365-A) 

9. Discuss the spatial distribution of cotton 
textile industry in India. 

620 R 

the world. 
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